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Net lonic Equations: Practice Problems

Balance the following equations. Show the ionic and net ionic forms.

1) Mg(NO,).(agq.) + Na,CrO,ag.) —= MgCrO,(s) + NaNO,(aq.)
lonic:
Net ionic:

2) Na,PO,(aq.) + Ni(ClO,),(s) — Niy(PO,),(s) + NaClO,(aq.)
lonic:
Net ionic:

3) AgNO,(aq.) + Magl,(ag.) — Agl(s) + Mg(NO,),(aq.)
lonic:
MNet ionic:

4) Ca(OH)(ag.) + FeCl (ag.) — Fe(OH),(s) + CaCl,(aq.)
lonic:
Met ionic:

5) RbF(ag.) + CuSO,(aq.) — Rb,SO,(aq.) + CuF,(aq.)
lonic:
Net ionic:

6) (NH,).,S(ag.) + Co(NO,),(ag.) — CoS(s) + NH,NO,(aq.)
lonic:
Net ionic:

7) Na,PO,aq.) + FeCl,(aq.) — FePO,(s) + NaCl(aqg.)
lonic:
Net ionic:

8) AgNO,(aq.) + HCl(ag.) — AgCl(s) + HNO,(aqg.)
lonic:
Net ionic:

9) MgBr,(ag.) + KOH(ag.) — Mg(OH),(s) + KBr(aq.)
lonic:
Net ionic:

10) AlCl,(ag.) + K,PO,[aq.) — AIPO,(s) + KCl(aq.)
lonic:
Net ionic:
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Net lonic Equations: Practice Problems (Answers)
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Balance the following equations. Show the ionic and net ionic forms.

Mg(NO,),(aq.) + Na,CrO,(aq.) — MgCrO,(s) + 2 NaNO,(aq.)
lonic: Mg*(aq) + 2N, (aq) + 2Na(aq) + Cr0,” (ag) — MgCrO,(s) + 2Na){(aq) + 2N, (aq)
Net ionic: Mg**(aq.) + Crof'(aq.) —  MgCr,0,(s)

2 Na,PO,(aq.) + 3Ni(ClO,),(s) —> Ni,(PO,),(s) + 6NaClO,(aq.)
|onic:sNa,}(aq)+2Pof(aq;+swi"‘*{aq)+sc;e;‘ — Ni,(PO,),(s) + 6Na(aq) + 6CId, (aq)
Net ionic: 3Ni*’(aq) + 2PO,"(aq) — Ni(PO,),(s)

2 AgNO,(aq.) + Mgl,(aq) —> 2Agl(s) + Mg(NO,),(aq.)

lonic: 2Ag’(aq) + 2NJ, (aq) + Mg Aaq) + 2I(aq) — 2Agl(s) + Mg {aq) + 2N, (aq)

Net ionic: Ag'(aq) + I'(ag) — Agl(s)

3 Ca(OH),(aq.) + 2FeCl,(aq.) — 2Fe(OH),(s) + 3 CaCl,(aq.)
lonic: 3Ca7(aq) + 60H (aq) + 2Fe”*(aq) + 6CHaq) — 2Fe(OH),(s) + 3Ca>/(aq) + 6GH(aq)
Net ionic: Fe’'(ag) + 30H(aq) —» Fe(OH),(s)

2 RbF(aq.) + CuSO,(aq.) — Rb,SO,(aq.) + CuF,(aq.)

lonic: 2Rb(aq) + 2E1aq) + Cu’Aaq) + S@,” (agi> 2R (aq) + S/G;E'{aq} + CuAaq) + 2B(aq)
Net ionic: No reaction

(NH,),S(ag.) + Co(NO,),(ag.) — CoS(s) + 2 NH,NO,(aq.)

lonic: 2NH,"(aq) + S*(aq) + Co”"(aq) + 2N@, (aq) — CoS(s) + 2NH, (aq) + 2N@’ (aq)
Net ionic: Co’'(ag) + S°(ag) — CoS(s)

Na,PO,(aq.) + FeCia(aq) — FePO,(s) + 3 NaCl(aq.)

lonic: 3Na(aq) + PO, (aq) + Fe”'(aq) + 3CH{aq) — FePO,(s) + 3Na(aq) + 3C}(aq)
Net ionic: Fe’'(aq) + PO,"(ag) — FePO,(s)

AgNO,(aq.) + HCl(aqg) —» AgCl(s) + HNO,(aq.)

lonic: Ag'(aq) + N@,, (aq) + H(aq) + Cl(ag) — AgCl(s) + H(aq) + N@, (aq)

Net ionic: Ag'(agq.) + Cl(ag) — AgCI(s)

MgBrE(aq) + 2 KOH(aq.) —> Mg(OH),(s) + 2 KBr(aq.)

lonic: Mg (aq)+25y(aq + 2 KAaq) + 20H (ag) — Mg(OH),(s) + 2K{aq) + 2Bp(aq)

Net ionic: Mg "(ag) + 20H(aq) — Mg(OH),(s)

AlCl,(aq.) + K,PO,(aqg) —» AIPO,(s) + 3 KCl(aq.)

lonic: AI”"(aq) + 3CHaq.) + 3K(aq) + PO,  (ag.) — AIPO,(s) + 3K(aq.) + 3C)(aq.)

Net ionic: A™"(aq) + PO,"(aq) — AIPO,(s)




